4 5

Call someone to help, you Put the product on a soft Take a seat and a table leg, Fasten the table top to the 4 Done!
better be two people! surface in order not to then proceed to fasten both sets of "seats + legs" in the 4
damage it. to the 2 plates ('I" shape and fixing points, using 8 M8x14
"L" shape) as shown in the screws, as shown in the

image, using 6 M8x10 screws.  image.
Do the same with the
remaining 3 seats and 3 legs.

Assembly instructions

015. Octopus
Five steps procedure U RB AN T

DIEMMEBI @



What do
you need?

- 24 TBEI M8x10 screws
- 8 TBEI M8X14 screws
- a screwdriver

URBANTIME



